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Introduction

= In addition to fixing the insertion loss equation and plot, modify Annex 128C to include an
insertion loss equation and plot for both 2.5G and 5G

— Currently, there is only one equation and plot for both rates

— Equation 128C-7 and Figure 128C-3 will be replaced with the equations and plots in this presentation



2.5G Insertion Loss Equation and Plot

= Note:
— 0.05=",
- 1.5625 =1,

— This implies the editor should change the following frequencies shown in the equation below:
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5G Insertion Loss Equation and Plot

* Note:
— 0.05 =f,
— 2.578125 =1,
— This implies the editor should change the following frequencies shown in the equation below:
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Table 128C-1 Change

= With these changes, the row f,,,, is no longer needed.

= Remove the row with parameter f,.,

Table 128C-1—Insertion loss parameters

Parameter Value for ) Value for Unit
1L5GBASE-EKX SGBASE-KR s
[ min 0.05 GHz
b 2x 10 ES
b, 1.1= 10-8E 10
by 4.1 = |0e=0F 28
by 1.6 (0020
I 0312 0.3 GHz
I 1.5625 2578125 GHz
fa 0.1 GHz
5 1.5625 2578125 GHz




